
Roll No. 	 Total No. of Pages : 3 

a 	 Total No. of Questions : 7 

triqaPIT 1:1244-kgu5 

chls : 508 

WO—weiLiAit 

Tfrizi : 3 Iftra- 	 110ft : 100 

(1)  

(') 

5x2=10 144*4 	4-10111tu tsfrc fad — 

(3r) 	qitsifiu 14"c19bl'"Cli 

( 	TeFt () q11 	ciSh 	5c14, 

(2)  -W-54 ci 	31tzFIT: 	(-4 -cf ? 

(31) (.4) K-`q-1: 

(r)fir: () -qz4-qc1: 

(3)  — 

(31) fez:flu:A (•) 7:11Wiraff4 

(T) ‘nviTftzfr4 () TP-41TreZei 

(4)  attzi -7ftrt — 

(3T) gicm11:1 (-4) -I 

(4) 

(5)  Tq-r4stzir-4 cbrci ? 

(31) 105 (•) 97 

(T) 106 (•) 90 

508 	 1 
	

P.T.O. 

fir-74 5R1I: Tigiteff:1 

1. 

30 



2. 	ft 4(-4 177:iff - 	 5x2=10 

(71-4t7r„ 	 d A , litql31) 

      

      

      

      

       

l~lci - 24-r 

       

(5) 	Tiqf 	 

3. 	T12(4-d-4 	- 

 

7- nrATT vr-q-zu 

 

 

5x2=10 

() -gt--'rr 41 	4 	  

(u) 	zTOrI c TI  

(Tr) 	-f-7q 	 -44-1-1 ITR41 

(-Er) 	till:   	d I 

(37) 	 11-1 4 il 	I 

4. 4/3-1- 	.rffM - 

3-1-trf-4,q-td-ia3--Tfur 

1-4—dr-- I 

TRTzf: 	9-1—dr- I 

cMullr-I Hc4 11—dr I 

1-44-1-1 .9.0 till( Rullr-1 1-1--4 	I 

5. qqiq - 

(s) 	IT-P-TTET 	 ? 

(Zr) t414rcrr .ht Tic ? 

(TT) 	Folufci-G134-> 	 tqi7EI 4-171: ? 

(-q) 	ti 	 ? 

11-651k 	TIRTr:  	? 

5x2=10 

5x2=10 

508 	 2 



6. 	tq9 	 1;1791: 	TT T: — 	 4x5=20 

.14T -42117-2i ii-ciLiN1c-1144,1 

7-277IT cal 1,-104 IR-R91c1 I 

	 1R4 	 Icid-c11c1 I 

71tT2'ITtNi 

7. 	-q171- 	 — 	 3x10=30 

-57-2TWRI 11frq4.f 	 

: I 

FoRcich4-14-ia Fq4c-1UnTIT 	f1 -ciqc1 I 

508 
	

3 



A 



Total No. of Pages : 3 Roll No. 	  

Total No. of Questions : 7 

4-luTriT Vag 

FOI 	011.1 	508 

OW-LI C1011 4-( 

t•40-911-4'14, 

TitrItT : 100 k-1 1-1q 	: 3 

fir—TO I 

1. (1)  - 5x2=10 74.1-F1 	4-h1-01-cRi-11 	fa-g 

() (34) 	f 	1(_q 

(g) (Tr) -Trrr-d-91 

(2)  34rf 	 331-)717:11: ? 

(3T) 	4-7clqql: 

(r) (q) 

(3)  cr4: clui-tH 	— 

( 34) fg-dtzrp:flt -1k-c14-11tzli4 

(q) (74) 	,4q2.1.i-74T-4 4-a-m4 4-e-4114 

(4)  3-7zf 74 	tuT -7TfuT — 

() 

(q) 

(3T) giqmiri -41q1c•i1 

(T) 	-f q1c-11 	-f 

(5)  Trri?r,s%zi-r-4 ? 

(3-T) 105 	 () 97 

(TT) 106 	 (q) 90 

508 	 1 	 P.T.O. 

,z) 



2. 	fr4T1T-Q1-14 	— 5x2=10 

(Tr4t-IT, 	91151,  it, 

    

    

    

    

  

71-41T1 \ cl 	tTT I 

(5) 	t4i%11 

3. 	-alTf4-J4 

(T) TT71 Hlq 

(U) 1:14f 

     

(CK1 4 1-qr 	uF-TErt 

 

     

5x2=10 

       

       

(TO fTq-r f-cd77: 

(1q) 	tTIT: 	 

() 

4. 	Tri/3-W-- t 

        

        

    

-1(-circitrci 

 

     

        

5x2=10 

11--4-f 

(RN: 	11-a-rr 

ci,o1111 	'4.Ta-f 

tiff! 

5. 	-crtzi=rff -crk-i 6TR qqig — 

317=q 1T-21-Ft 	 ? 

ct.1.1-rt;Rr 	? 

	 rat 	kfcito,4  	 ? 

? 

1-1-7;r-dt t     ? 

5x2=10 

508 2 



6. 	*-c4-1 tkciFt: 779T: 	— 	 4x5=20 

zT21-m--714 

(Tg) 74477A-r 1 \rq 	f- tM I 

) 	'1014  liewith faa 	4c-1 I 

(1q) 

f-g-tErwqr-q7zi NrciLlm itV4 11 ?•ici14-1,1 

7. 	 779T: — 	 3x10=30 

7.-q-WRTETtrfr-474 	-f -uff 

TITtht (;4A-1.-i4: I 

FoR1ch44-la k 4  (.ia3171:1 	rCiCic'ild I 

508 
	

3 




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8

